
This is what the curves are supposed to look like

1 Without shield on tank coil and using 100 K resistor in parallel.
f KHz Plate Current  Actual measured R = 98.3K ohm

2846 2
2856 2.5
2880 3

2885.9 3.5
2913.6 4
2951.4 4.5
2965.2 5
2986.8 5.5
2996.3 6
3018.6 6.5
3019.5 7
3033.3 7.5
3035.3 8
3048.8 8.5
3052.1 9.5
3061.6 10
3079.2 10.5
3087.9 10
3095.5 9.5
3093.6 9
3095.6 8.5
3099.6 8
3102.3 7
3105.6 6.5
3107.8 6
3110.7 5.5
3112.2 5
3114.4 4.5
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3119.1 4
3124 3.5

3126.4 3
3130.8 2.5

3141 2

2 Similar setup except now secondary output measured first unloaded and then 
0.4 3.896 loaded with 100 Kohm shunt

0.425 4.307 3.74
0.45 3.954
0.5 3.893 3.641

0.55 3.73 3.54
0.575 3.513

0.6 3.673
0.65 3.593
0.7 3.519

0.75 3.405
0.7 3.377

0.65 3.372
0.6 3.356

0.58 3.384
0.575 3.454
0.55 3.35
0.5 3.348 3.369

0.45 3.343 3.353
0.4 3.338 3.342

3 Similar setup. This was not meant to show the bandpass characteristic but was actually
 supposed to be similar but of lower value and wider wider that the other two curves

0.35 3.31 5
0.425 3.32 8
0.45 3.34 10.5
0.5 3.37 11.2

0.55 3.44 12.2
0.5 4.22 10

0.55 3.46 12.4
0.5 3.34 12

0.425 3.29 7.5
0.4 3.28 6

Resonance Curve Unloaded and 100K 
ohm shunt load
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